






























































School: ACS 
School: St Nicholas 
Level:  P5 
Subject: Maths 
Term:  CA1 
 

Q1 Q2 Q3 Q4 Q5 

2 2 3 4 1 

Q6 Q7 Q8 Q9 Q10 

1 4 2 2 3 

Q11 Q12 Q13 Q14 Q15 

4 4 1 2 3 

 
Q16)  85 000 Q17) 0.375 Q18) 5790 Q19) 2.03 m Q20) 11 

 
Q21) 1.2 ℓ Q22)  

275 tickets 
Q23)  
190 participants 

Q24)  
6
11

  
Q25) 3 
 

Q26) 4.45 km 
Q27)  

2
3
  

Q28) 15 white 
tiles 

Q29) 640 cm Q30) 90 
stickers 

 
Paper 2 

Q1) 
8
8
  (teachers) = 

5
8
 (men) + 

3
8
 (women) 

 
8
8
   8 units 

 8 units  128 
 1 unit  128 ÷ 8 = 16 
 3 units  16 x 3 = 48 
 Total  48 + 40  88 women 

Q2) 
1
2
  = 

5
10

   
3
5
  = 

6
10

  

 Total amount  
5
10

  + 
6
10

  = 
11
10

  

 Used  
11
10

  - 
3
10

  = 
8
10

  kg 

Q3) 1 packet of peanuts  $2.55 
 3 packets of almonds = 5 packets of peanuts = 2.55 x 5 = 12.75 
 1 packet of almonds = 12.75 ÷ 3 = $4.25 

Q4) 10 – 7 
2
9
  = 2 

7
9
  

 6 
1
6
  - 2 

7
9
  = 3 

7
18

  

Q5) 52, 58, 63, 69 
 
 



Q6) 
11
11

   
4
11

  (white) + 
7

11
 (purple)  

 Number of purple marbles = 133 

 
7
11

   7 units = 133 

 1 unit = 133 ÷ 7 = 19 
 Total  11 units 
 11 units = 19 x 11 = 209 marbles 
Q7) 6 cushion covers + 2 rugs  $88 
 1 cushion cover + 1 rug  $20 
 2 cushion covers + 2 rugs  20 x 2 = $40 
 4 cushion covers  88 – 40 = $48 
 1 cushion cover  48 ÷ 4 = $12 
Q8) Total number of part poppers he bought  35 
 Number of sets he could buy  35 ÷ 7 = 5 
 Cost of 5 sets  $66 x 5 = $330 
 Cost of all the light sticks  442 – 330 = $112 
 Number of sets  $112 ÷ 8 = $14 
 Number of light sticks  14 x 9 = 126 light sticks 
Q9) $15 x 4 = $60 
 $181 - $60 = $121 
 $121 ÷ 5 = $24.20 
 $24.20 x 2 = $48.40 
 $48.40 + 15 = $63.40 
Q10) 2 units  117 + 75 = 192 
 1 unit  192 ÷ 2 = 96 
 Elaine  96 + 75 = 171 beads 
Q11) 4 units  162 + 30 + 192 = 192 
 2 units  192 ÷ 2 = 96 
 96 + 192 = 288 muffins 
Q12) 3 units – 584 – 272 = 312 
 1 unit  312 ÷ 3 = 104 
 Number removed from each box  272 – 104 = 168 
 460 – 168 = 292 pens 
Q13) 336 + 72 = 408 
 408 ÷ 2 = 204 
 204÷ 12 = 17 rows 
 
 
 
 
 
 
 
 



Q14)  a) 
3
3
   3 units   

2
3
   2 units 

  3 units  45 
  1 unit  45 ÷ 3 = 15 

  
2
3
  + 

3
3
  = 

5
3
  (5 units) 

5 units  15 x 5 = 75 computers 
b) 30 x $50 = $1500 

 30 ÷ 5 = 6 
 6 x 90 = $540 
 $1500 + $540 = $2040 

 
Q15) 9 units  576 
 1unit  576 ÷ 9 = 64 
 64 + 90 = 154 
 575 – 154 = 422 toys 
Q16) 318 ÷ 6 = 53 
 (53 x 2) + 52 = 158 cards 
Q17) a) 162 large mangoes 
 b) $2052 
 
 
 

End 


